

1.1 - (3) Let $Z = a + bi$, so $Z^2 = 3 - 4i$ iff $(a^2 - b^2) + 2ab i = 3 - 4i$ iff $a^2 - b^2 = 3$ and $2ab = -4$.
 Then $(a^2 + b^2)^2 = (a^2 - b^2)^2 + (2ab)^2 = 3^2 + 4^2 = 25$, so $a^2 + b^2 = 5$.
 Adding gives $2a^2 = 3 + 5 = 8$, so $a^2 = 4$ and $a = \pm 2$. Since $b = -\frac{2}{a}$, $b = \mp 1$.
 So $Z = 2 - i$ or $Z = -2 + i$.

REMARK WE COULD ALSO SOLVE THIS USING THE POLAR FORM

$$3 - 4i = 5(\cos \theta + i \sin \theta) \text{ WITH } \theta = \tan^{-1}\left(-\frac{4}{3}\right), \text{ BUT IT WOULD BE HARDER.}$$

10 a) Let $Z = x + yi$ AND LET $\phi_Z: \mathbb{C} \rightarrow \mathbb{C}$ WITH $\phi_Z(w) = ZW$.

THEN $\phi_Z(1, 0) = Z \cdot 1 = Z = x + yi = (x, y) \leftarrow$ (FIRST COLUMN)

AND $\phi_Z(0, 1) = Z \cdot i = (x + yi)i = -y + xi = (-y, x) \leftarrow$ (SECOND COLUMN)

SO ϕ_Z HAS THE STANDARD MATRIX $[\phi_Z(\vec{e}_1) | \phi_Z(\vec{e}_2)] = \begin{bmatrix} x & -y \\ y & x \end{bmatrix}$.

1.2 - (1) b) $Z^4 + i = 0$ GIVES $Z^4 = -i = 1(\cos \frac{3\pi}{2} + i \sin \frac{3\pi}{2})$,
 SO $Z = \sqrt[4]{1} \left(\cos \left(\frac{3\pi/2}{4} + \frac{2k\pi}{4} \right) + i \sin \left(\frac{3\pi/2}{4} + \frac{2k\pi}{4} \right) \right)$
 $= \cos \left(\frac{3\pi}{8} + \frac{2k\pi}{4} \right) + i \sin \left(\frac{3\pi}{8} + \frac{2k\pi}{4} \right), \quad 0 \leq k \leq 3$

USING THE HALF-ANGLE FORMULAS

$$\cos \frac{\theta}{2} = \pm \sqrt{\frac{1 + \cos \theta}{2}} \quad \text{AND} \quad \sin \frac{\theta}{2} = \pm \sqrt{\frac{1 - \cos \theta}{2}}, \quad \text{WE GET}$$

$$Z_0 = \frac{\sqrt{2+\sqrt{2}}}{2} + \frac{\sqrt{2-\sqrt{2}}}{2} i, \quad Z_1 = -\frac{\sqrt{2+\sqrt{2}}}{2} + \frac{\sqrt{2-\sqrt{2}}}{2} i,$$

$$Z_2 = -\frac{\sqrt{2+\sqrt{2}}}{2} - \frac{\sqrt{2-\sqrt{2}}}{2} i, \quad Z_3 = \frac{\sqrt{2+\sqrt{2}}}{2} - \frac{\sqrt{2-\sqrt{2}}}{2} i.$$

(3) $(\cos x + i \sin x)^5 = \cos 5x + i \sin 5x$ BY DE MOIVRE'S THEOREM, SO

$$(\cos x)^5 + 5(\cos x)^4 (i \sin x) + 10(\cos x)^3 (i \sin x)^2 + 10(\cos x)^2 (i \sin x)^3 + 5(\cos x) (i \sin x)^4 + (i \sin x)^5 = \cos 5x + i \sin 5x.$$

$$\text{THEN } (\cos^5 x - 10 \cos^3 x \sin^2 x + 5 \cos x \sin^4 x) + i (5 \cos^4 x \sin x - 10 \cos^2 x \sin^3 x + \sin^5 x) = \cos 5x + i \sin 5x,$$

SO $\cos 5x = \cos^5 x - 10 \cos^3 x \sin^2 x + 5 \cos x \sin^4 x$

AND $\sin 5x = 5 \cos^4 x \sin x - 10 \cos^2 x \sin^3 x + \sin^5 x$

1.2 - (9) Let $\omega^n = 1$ with $\omega \neq 1$.

Then $\omega^n - 1 = 0$, so $(\omega - 1)(\omega^{n-1} + \omega^{n-2} + \dots + \omega + 1) = 0$ AND THEREFORE

$$\omega^{n-1} + \omega^{n-2} + \dots + \omega + 1 = 0 \quad \text{since } \omega \neq 1.$$

REMARK NOTICE THAT $x^n - y^n = (x - y)(x^{n-1} + x^{n-2}y + x^{n-3}y^2 + \dots + xy^{n-2} + y^{n-1})$,

AND IT FOLLOWS FROM THIS RESULT THAT THE SUM OF THE n TH ROOTS OF UNITY IS 0.

(10) Let $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$ WHERE a_0, \dots, a_n ARE REAL NUMBERS.

IF z_0 IS A ZERO OF $P(z)$, SO $P(z_0) = 0$, THEN

$$\overline{P(z_0)} = \overline{a_n z_0^n + a_{n-1} z_0^{n-1} + \dots + a_1 z_0 + a_0} = \overline{0} = 0;$$

$$\text{so } \overline{a_n} \overline{z_0}^n + \overline{a_{n-1}} \overline{z_0}^{n-1} + \dots + \overline{a_1} \overline{z_0} + \overline{a_0} = 0, \quad \text{since } a_i \in \mathbb{R}, \overline{a_i} = a_i \text{ FOR EACH } i;$$

$$\text{so } a_n \overline{z_0}^n + a_{n-1} \overline{z_0}^{n-1} + \dots + a_1 \overline{z_0} + a_0 = 0,$$

THEREFORE $P(\overline{z_0}) = 0$, SO $\overline{z_0}$ IS ALSO A ZERO OF $P(z)$.

(15) Let $z = a + bi$.

$$\text{THEN } z^2 = (a^2 - b^2) + 2abi \quad \text{AND } |z|^2 = a^2 + b^2,$$

$$\text{so } z^2 = |z|^2 \text{ IFF } a^2 - b^2 = a^2 + b^2 \text{ AND } 2ab = 0$$

$$\text{IFF } 2b^2 = 0 \text{ AND } 2ab = 0 \text{ IFF } \underline{b = 0},$$

$$\text{so } \underline{z^2 = |z|^2 \text{ IFF } z \in \mathbb{R}.}$$

$$1.3 - (1b) \sin(1+i) = \frac{e^{i(1+i)} - e^{-i(1+i)}}{2i} = \frac{e^{-1+i} - e^{-i-i}}{2i}$$

$$= \frac{1}{2} (-i) \left[e^{-1} (\cos 1 + i \sin 1) - e^{-1} (\cos 1 - i \sin 1) \right] \quad \left(\text{USING } \frac{1}{i} = -i \right)$$

$$= \frac{1}{2} \left[e^{-1} (\sin 1 - i \cos 1) + e^{-1} (\sin 1 + i \cos 1) \right]$$

$$= \boxed{\frac{1}{2} \sin 1 (e^{-1} + e^{-1}) + i \left(\frac{1}{2} \cos 1 \right) (e - e^{-1})}$$

$$(2b) \cos(2+3i) = \frac{e^{i(2+3i)} + e^{-i(2+3i)}}{2} = \frac{1}{2} \left[e^{-3+2i} + e^{-3-2i} \right]$$

$$= \frac{1}{2} \left[e^{-3} (\cos 2 + i \sin 2) + e^{-3} (\cos 2 - i \sin 2) \right]$$

$$= \boxed{\frac{\cos 2}{2} (e^{-3} + e^{-3}) + i \left(\frac{\sin 2}{2} \right) (e^{-3} - e^{-3})}$$

REMARK WE COULD ALSO WORK 1b AND 2b USING THE ADDITION FORMULAS

(AND THE IDENTITIES RELATING $\sin z$ AND $\cos z$ TO $\sinh z$ AND $\cosh z$).